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QUESTION 1

What does the LIMIT function restrict in an SQL SELECT statement?

A. The number of queries that can be run against the table per second

B. The number of records a table is permitted to hold

C. The number of records that will be returned by a request

D. The number of subsequent SELECT statements that can be run against the table

Correct Answer: B

QUESTION 2

What wilt the code in the screen capture print when executed?

>>> X=4

>>> y=0

>»> 1f(y):

T X=X+2
o print(x)
. €Else:

;i X=X—2
. print(x)

B. 4
C.x
D. An error
E.6

Correct Answer: A
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QUESTION 3

What would be the result of the following code in Python?

registry_key reg _handle.open("Microsofti\Windows NT\CurrentVersion™)

|-

map(lambda x: x.path{), registry key.subkeys

A. The path of each subkey under Microsoft\Windows NT\CurrentVersion
B. A tuple containing the name, value, and type of each subkey under

C. Microsoft\Windows NT\CurrentVersion

D. The full registry path of the CurrentVersion key

E. A handle to the Microsoft\Windows NT\CurrentVersion key

Correct Answer: B

QUESTION 4

Which of the following import statements will add the ability to parse data with regular expressions to your script?
A. from regex import re

B. import re

C. from re import regex

D. import regex

Correct Answer: B

QUESTION 5

A log file is stored in variable "a". The file has the following format for each log entry, in order, stored in big endian: Field
1: 2-byte integer Field 2: 2-byte integer Field 3: 4-byte string Which of the following would unpack a line from the log file
into the proper fields?

A. struct. unpack(\\'>HH4s\\',a)

B. stmct.unpack(\WV\HHHH,/a)

D. stnjct.unpack(\\''BxBx4s\\'/a)

Correct Answer: A
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